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QUESTION 1

You want to modify the look and behavior of the application through profile options. When you try to modify it, you are
unable to perform the action. Which statement is true regarding profile options? 

A. You cannot modify the constituents of the existing profile options without saving them after creation. 

B. You can modify the constituents of the existing profile options, but your manager must enable them for modification. 

C. You can modify the constituents of the existing profile options, but the system administrator must enable them for
modification. 

D. You can modify the constituents of the existing profile options, but you must enable them for modification. 

Correct Answer: C 

 

QUESTION 2

Identify the correct option regarding the status of a person who has a Non-Worker work relationship (for example, an
external trainer) with a legal employer, and applies for employment with the same legal employer and gets hired as an
employee. 

A. The person retains the Non-Worker work relationship with the legal employer. 

B. The person has only an Employee work relationship with the legal employer. 

C. The person no longer has a Non-Worker work relationship and has only an Employee work relationship with the legal
employer. 

D. The person has both Non-Worker and Employee work relationship with the legal employer. 

Correct Answer: D 

 

QUESTION 3

There has been a re-organization requiring all the employees of Department A to be moved to Department 

A. Which option will enable this activity to be addressed in a single request? 

B. Run the Refresh Manager Hierarchy process. 

C. Run the Synchronize Person Records process. 

D. Run the Mass Update process. 

E. Run the Send Pending LDAP Requests process. 

Correct Answer: C 
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QUESTION 4

A human resource specialist creates a checklist template with Category Offboarding and Action Termination. An
employee retires from the organization and hence his work relationship is terminated with the legal employer. However,
there is no Offboarding checklist allocated to the retired employee in the Manage Allocated Checklist region. 

What is the cause for this? 

A. The Allocate Checklist seeded process must be run to automatically allocate the checklist to the person. 

B. Action Reasons were not defined in the checklist. 

C. The Action associated with the checklist does not match the Action selected during the termination process. 

D. Action Type was not defined for the checklist. 

Correct Answer: A 

 

 

QUESTION 5

An HR representative enters employee details in the application as part of the hiring process. On the 

Review page, the HR representative notices that Person Number does not show any number, but indicates 

"Generated Automatically". 

Identify the option that relates to this intended behavior. 

A. Person Number at the Enterprise Level is set to Manual. 

B. Person Number at the Enterprise Level is set to Automatic before submission. 

C. Person Number at the Enterprise Level is set to Automatic after final save. 

D. Worker Number at the Enterprise Level is set to Manual. 

Correct Answer: C 
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